o
AZOvy B +w/ a—E« TP B & g f
B 50 50 15 45(3) 53 15 1-1 2
o) a—Eq 05 05 51 15 05 05 0-2 3
™ 54(3) 35 51 51 50 50 2-0 1
B7avs J-Tennis 0-H FyrHoy—X FH—X B [
J-Tennis 15 15 25 50 05 35 0-2 3
0-H TuhSY—X 51 51 52 25 53 50 2-0 1
FHAY—Z 05 50 53 52 35 05 1-1 2
CInvy LAT=AENE FT) TEAMBEOR B K W
LY4F=2AES 25 54(4) 25 3553 35 0-2 3
E—Ys 52 45(4) 52 54 15 15 1-1 2
TEAMBA DR 53 35 53 45 51 51 2-0 1
p7AvY F—LATLT 15 HLEEEI715—X naroc B K [
F—LATLS 18 50 35 35 53 15 52 1-1 1
BEEST7 15— 05 53 53 25 50 45(3) 1-1 2
naros 35 51 25 52 05 54(3) 1-1
EJayy RELTHEHA Bad Boys F—LEF B R 1
AELTHER 52 54 52 25 25 52 1-1 1
Bad Boys 25 45 25 25 52 52 1-1 3
FLET 52 52 25 52 25 25 1-1 2
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F7Oovy a/ X —X #EE T.T.C =4 LEFEL WIN B B K [ERE:
J%—R Wi 25 05 25 1505 05 1525 05 0-3 4
S 52 50 52 45(0] 25 15 353550 1-2 3
T— 51 50 50 54(0] 52 51 52 54(4) 50 3-0 1
WIN B 51 52 50 53 53 05 25 45(4] 05 21 2
GZavy [%5King X=X BET=RH5T A team — HMDOE B K IE 1
[&%King 39 39 52 51 53 51 51 51 35 2—1 2
Jo%—X 53 53 25 52 21 52 3551 52 3-0 1
BEZ= 2557 A 1535 15 2512 25 1525 25 0-3 4
team — HMDE 151553 53 15 25 51 53 52 1-2 3
1 (LR B 2{1 iR B
ELLHE Sk WIN B N B
Jox—X H 5153 £ 3King 35 51 51
SRR B AT IR
T.T.C J X S
team - HMDOE RET=ZRAHI5T A
team - HHOE 54(3] 15 52 SMEF=2557 A 50 51
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HOov%) FENDE AT AHE H Clover OMT F=&KY B B IE s
AEOE 15 35 25 15 15 25 51 50 05 15 15 54[4] 1-3 4
swmr-zina | 0195352 52 15 15 50 52 51 15 52 50 3-1 2
M Clover 51 51 52 25 51 51 50 50 51 52 15 05 2-2 3
OMT 15 05 50 05 25 15 05 05 15 05 05 25 0-4 5
S 5151 45(4] | 515205 25 51 50 50 50 52 4-0 1
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UFO 50 50 51 51 50 35 50 53 50 05 45(3] 52 3-1 2
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AJOvY A ) widt WINA B B IE 45z
R 25 51 50 25 53 54(4) 2-0 1
P 52 15 05 51 1515 0-2 2
WINA 52 35 45(4) 15 51 51 1-1 3
BZOvY A EEHE ERATABETTT B B IE 4z
" 52 05 54[4] 45(2] 25 53 1-1 2
e 25 50 45(4) 45(3] 51 51 1-1 1
EIETIMK
S 54(2] 52 35 54[3] 15 15 1-1 3
covyy i SARFE - AR LINXS »H—%30 Z<LhT—! B B
R 45(4] 52 50 51 25 52 45 50 53 3-0
LINXS 54[4] 25 05 4515 35 533515 0-3 4
530 1552 25 54 51 53 45(2] 52 25 1-2 3
2T 1 54 05 35 35 53 51 54(2] 25 52 0 2
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Adavy DFHHL Mennis A o ARRE - 43 FRYAIL il IR 17 avy e e
D rirtennis A 1553 15 54 35 25 0-2 3 R 253515 11 05 51 0-2 3
P 51 35 51 54(3] 05 52 2-0 1 - 52 53 51 5115 54 2-0 1
S 45 53 52 45(3] 50 25 1-1 2 LT RET 50 15 15 51 45 1-1 2
BZAvY BIG BOSS D& HMMennis B Lichak 3R i " powd=b) il &
|eic Boss 53 50 45(0] 353515 2 A vz 35 15 54(4] 2505 25 0-2 3
Distirtennis B 35 05 54(0) 1515 25 3 BIG BOSS 53 51 45(4) 5153 53 2-0 1
R 53 53 51 51 51 52 1 SREEAL 52 50 52 15 35 35 1-1 2
cFavy F—LTJ KREYAN RET=R957B B & o Kiowd=P e e
LTy 53 54(1] 45(3) 51 51 53 1 DrLrtennis A 53 35 52 51 54 53 2-0 1
— 35 45(1] 54(3] 60 60 61 2 P 3553 25 15 05 25 0-2 3
06 06 16 1515 35 3 15 45 35 51 50 25 1-1 2




